Notes On Setting Time


1) Check the time zone.


echo $TZ

Example:


$ echo $TZ


America/Chicago


$

Set it with


smitty > System Environments > Change / Show Date and Time


> Change Time Zone Using System Defined Values


Choose: US - United States


Pick a time zone


Click enter

Reboot when you can.

2) Look at the ntp config file:


/etc/ntp.conf

At the bottom:


broadcastclient


driftfile /etc/ntp.drift


tracefile /etc/ntp.trace


server time2.blah.com


server time1.blah.com

The entries at the bottom are the time servers.

3) Check to see if you can reach the time servers:


ping time3.blah.com


ping time2.blah.com

Check to see if the time server is functioning:


ntpdate -d Server

# ntpdate -d time2.blah.com

10 Dec 14:40:07 ntpdate[344172]: 3.4y

transmit(216.229.153.20)

transmit(216.229.153.20)

transmit(216.229.153.20)

transmit(216.229.153.20)

transmit(216.229.153.20)

server 216.229.153.20, port 123

stratum 0, precision 0, leap 00, trust 000

refid [0.0.0.0], delay 0.00000, dispersion 64.00000

transmitted 4, in filter 4

reference time:      00000000.00000000  Thu, Feb  7 2036  0:28:16.000

originate timestamp: 00000000.00000000  Thu, Feb  7 2036  0:28:16.000

transmit timestamp:  d0ad0eaa.532df000  Fri, Dec 10 2010 14:40:10.324

filter delay:  0.00000  0.00000  0.00000  0.00000

               0.00000  0.00000  0.00000  0.00000

filter offset: 0.000000 0.000000 0.000000 0.000000

               0.000000 0.000000 0.000000 0.000000

delay 0.00000, dispersion 64.00000

offset 0.000000

10 Dec 14:40:11 ntpdate[344172]: no server suitable for synchronization found

#

See the bottom line.  This example above lets us know that the server is not usable for time syncing.

For the other server:

# ntpdate -d time2.blah.com

10 Dec 14:43:03 ntpdate[344186]: 3.4y

transmit(216.229.145.31)

receive(216.229.145.31)

transmit(216.229.145.31)

receive(216.229.145.31)

transmit(216.229.145.31)

receive(216.229.145.31)

transmit(216.229.145.31)

receive(216.229.145.31)

transmit(216.229.145.31)

server 216.229.145.31, port 123

stratum 4, precision -17, leap 00, trust 000

refid [169.254.0.1], delay 0.02615, dispersion 0.00005

transmitted 4, in filter 4

reference time:      d0ad0f4b.d5ede119  Fri, Dec 10 2010 14:42:51.835

originate timestamp: d0ad0f58.070a4e37  Fri, Dec 10 2010 14:43:04.027

transmit timestamp:  d0ad0f58.071eb000  Fri, Dec 10 2010 14:43:04.027

filter delay:  0.02667  0.02634  0.02628  0.02615

               0.00000  0.00000  0.00000  0.00000

filter offset: -0.00032 -0.00055 -0.00055 -0.00058

               0.000000 0.000000 0.000000 0.000000

delay 0.02615, dispersion 0.00005

offset -0.000589

10 Dec 14:43:04 ntpdate[344186]: adjust time server 216.229.145.31 offset -0.000589 sec

#

If you look at the last line, you see that the LPAR is communicating with the time server.  Also, note the offset.  If the offset is above 1,000 seconds, then the ntp daemon will die b/c the time difference between the 2 is too great.  If it is too great, set the time (smitty date).  Restart the ntp daemon via "smitty src" to fix.

Remove time2 from configure file.

Restart ntpd via "smitty src".

To list how the subsystem is doing:

# lssrc -ls xntpd

 Program name:    xntpd

 Version:         3

 Leap indicator:  11 (Leap indicator is insane.)

 Sys peer:        no peer, system is insane

 Sys stratum:     16

 Sys precision:   -17

 Debug/Tracing:   DISABLED

 Root distance:   0.000000

 Root dispersion: 0.000000

 Reference ID:    no refid, system is insane

 Reference time:  no reftime, system is insane

 Broadcast delay: 0.003906 (sec)

 Auth delay:      0.000122 (sec)

 System flags:    bclient pll filegen

 System uptime:   60 (sec)

 Clock stability: 0.000000 (sec)

 Clock frequency: 0.000000 (sec)

 Peer: bosdns01.blah.com

      flags: (configured)

      stratum:  4, version: 3

      our mode: client, his mode: server

Subsystem         Group            PID          Status

 xntpd            tcpip            507940       active

#
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